Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - 111 « EXAMINATION — SUMMER 16

Subject Code: 3332903 Date: 20.05.2016
Subject Name: Weaving Technology - 11
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €2l SlEURL Ulclatl welled WL 14
State the objects of warping.

atlol oll 3 cAul.

State the objects of sizing.

ABAL otl dfll AW,

State the objects of thread stop motion on warping machine.
crdlor Hellet 1L s RAU H2let oll Al Al

State different driving system for dobby.

Slofl 12 ofl €l el stescllol R vl

State the function of squeeze roller in sizing.

AL HL Bl AR of st Avll,

List different types of creel used in warping.

ardlor L auRdl Bt ol atel s

State the function of lags and pegs in dobby.

Slofl 1L QoL A VL of s11 Al

State different techniques of sizing.

ALBAoL ofl el ol 2solls Anl.

State classification of drying system in sizing.

AL ol siBal M of cdllseL vl

© N 06 N O L U X WD 2R

o

10.  State the function of expandable comb.
0.  AsAUSHA 511 of 51l Al
Q.2 (@)  Explain multi cylinder drying system used in sizing. 07
s () asoflol Hl auRldl HeEdl RAsR gLésol R umHestal. 09
OR
(@) Explain modern saw box in sizing. 07
(1) AL HL Hlsel A ot AHxsLA. 09
(b)  Calculate the production of sizing machine in pounds and kgs from the 07

following data.
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Sizing speed = 75 yards/min, Efficiency = 50%, No. of ends in weavers beam

= 4050, Yarn count = 45s Ne, Time = 8 hours.
o{lAo(l (Aot U Ul usiol Geulest WBS Axo S1.oL HL 0.

Sizing speed = 75 yards/min, Efficiency = 50%, No. of ends in weavers beam

= 4050, Yarn count = 45s Ne, Time = 8 hours.
OR
Explain foam sizing.

Sl ABAOL AH A

Draw the passage of yarn through direct warping machine.
staRse adlor Hallet HL 2ol oll 1ol R,

OR
Calculate the production of warping machine per day in meter from the
following data:
Warping speed = 700 m/min, Efficiency = 60%, No. of ends = 570.

o(lAofl HEA uR &l awrdlor Hallot of As (Ea of Geuleat Hl2R L

.

Warping speed = 700 m/min, Efficiency = 60%
Explain beam warping with neat sketch, No. of ends = 570.

ofli ardlot 29 vtgld WA A Al

OR
Give the causes and remedies for warping beam defects.

tUloL ofl wiH{lRAl olt $1R60 A GUL sRULAL.

Compare single life dobby with double lift dobby.

Roct [@Ase elloll detstl sud [@Ase Sloll WA 5.

OR
Explain Climax dobby with neat sketch.

scilenel Slofl usld W AHeal.
Explain Cam dobby.
31 Sloll A Al

Explain size level control in sizing.

ALBADL HL UBPB AdA S\ AHLA
Explain the different parts of warping machine.
atUlol Hallet oll %EL %EL AU UM LA
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